UNIT COST BREAK DOWN - DISPOSABLE AIR FILTERS

QUOTE #4037 Air Climate System Dakota Supply Interline Brands JLX Filters									iltore	Total F	iltration	Twin C	ity Filter	
	filter description	count	price	total	price	total	price	total	price	total	price	total	price	total
1	Single Panel (10-1/4"x22"x1/2")	33 12	\$0.59 \$3.97	\$19.47	\$3.83 \$2.51	\$126.39 \$30.12	\$4.00 \$4.00	\$132.00 \$48.00	\$5.00 \$3.50	\$165.00 \$42.00	\$3.71 \$2.43	\$122.43 \$29.16	\$7.22 \$3.51	\$238.26 \$42.12
3	Filter Panels 3 Ply (12" x 20") Filter Panels 3 Ply (16" x 20")	243	\$3.97 \$2.83	\$47.64 \$687.69	\$2.94	\$714.42	\$2.95	\$716.85	\$3.50	\$656.10	\$2.43 \$2.85	\$692.55	\$3.74	\$908.82
4	Filter Panels 3 Ply (16" x 25")	123	\$3.17	\$389.91	\$3.43	\$421.89	\$3.27	\$402.21	\$3.00	\$369.00	\$3.32	\$408.36	\$4.10	\$504.30
5	Filter Panels 3 Ply (20" x 20")	768		\$3,025.92	\$3.43			\$3,056.64		\$2,112.00		\$2,549.76		\$3,210.24
6 7	Filter Panels 3 Ply (20" x 25") Filter Panels 3 Ply (24" x 24")	90 747	\$4.34 \$4.96	\$390.60 \$3,705.12	\$3.96 \$4.10	\$356.40 \$3,062.70	\$4.35 \$5.03	\$391.50 \$3,757.41	\$4.00 \$3.70	\$360.00 \$2,763.90	\$3.82 \$3.97	\$343.80 \$2,965.59	\$4.61 \$5.26	\$414.90 \$3,929.22
8	Linked (3)25"x16"	3	\$9.98	\$29.94	\$9.29	\$27.87	\$20.79	\$62.37	\$11.00	\$33.00	\$9.00	\$27.00	\$14.81	\$44.43
9	Linked (1)20"x16" & (2)20"x15"	6	\$8.04	\$48.24	\$7.90	\$47.40	\$6.67	\$40.02	\$10.00	\$60.00	\$7.63	\$45.78	\$11.11	\$66.66
10 11	Linked (4)16"x16" & (1)16"x20" Linked (4)20"x20"	12	\$10.47 \$11.70	\$125.64 \$35.10	\$11.78 \$13.77	\$141.36 \$41.31	\$8.58 \$9.56	\$102.96 \$28.68	\$19.00 \$17.00	\$228.00 \$51.00	\$11.41 \$13.32	\$136.92 \$39.96	\$18.03 \$20.13	\$216.36 \$60.39
	Linked (1)15"x20" & (1)15"x12"	3	\$5.14	\$15.42	\$7.59	\$22.77	\$5.08	\$15.24	\$10.00	\$30.00	\$5.71	\$17.13	\$7.16	\$21.48
13	Linked (1)16"x10" & (1)16"x16" & (3)16"x20"	9	\$10.47	\$94.23	\$11.78	\$106.02	\$8.58	\$77.22	\$20.00	\$180.00	\$11.41	\$102.69	\$18.03	\$162.27
	Linked (1)16"x10" & (1)16"x20" Linked (1)16"x12" & (1)16"x10" & (4)16"x20"	9 24	\$4.79 \$11.70	\$43.11 \$280.80	\$5.90 \$13.77	\$53.10 \$330.48	\$5.08 \$9.56	\$45.72 \$229.44	\$10.00 \$17.00	\$90.00 \$408.00	\$5.71 \$13.32	\$51.39 \$319.68	\$7.16 \$19.75	\$64.44 \$474.00
	Linked (1)16"x24" & (4)16"x20"	15	\$11.70	\$175.50	\$13.77	\$206.55	\$9.56	\$143.40	\$17.00	\$255.00	\$13.32	\$199.80	\$19.75	\$296.25
	Linked (1)20"x14" & (2)20"x25"	3	\$10.05	\$30.15	\$10.32	\$30.96	\$12.86	\$38.58	\$19.00	\$57.00	\$10.00	\$30.00	\$15.09	\$45.27
	Linked (1)20"x14" & (5)20"x20"	9 24	\$14.83	\$133.47	\$19.74 \$23.70	\$177.66	\$12.02	\$108.18	\$25.00	\$225.00 \$624.00	\$19.10 \$22.93	\$171.90 \$550.32	\$30.17	\$271.53
19 20	Linked (1)20"x14" & (6)20"x20" Linked (1)20"x25" & (3)20"x20"	6	\$16.38 \$12.10	\$393.12 \$72.60	\$13.77	\$568.80 \$82.62	\$13.24 \$9.87	\$317.76 \$59.22	\$26.00 \$25.00	\$150.00	\$13.32	\$79.92	\$32.54 \$20.13	\$780.96 \$120.78
21	Linked (1)20"x16" & (2)20"x15"	6	\$8.04	\$48.24	\$7.90	\$47.40	\$6.67	\$40.02	\$10.00	\$60.00	\$7.64	\$45.84	\$11.11	\$66.66
	Linked (1)20"x16" & (2)20"x25"	18	\$10.47	\$188.46	\$11.84	\$213.12	\$8.58	\$154.44	\$13.50	\$243.00	\$11.46	\$206.28	\$16.65	\$299.70
	Linked (1)20"x20" & (1)20"x14" Linked (1)20"x24" & (1)20"x20"	3 6	\$6.68 \$7.55	\$20.04 \$45.30	\$5.90 \$7.90	\$17.70 \$47.40	\$5.79 \$6.29	\$17.37 \$37.74	\$10.00 \$13.00	\$30.00 \$78.00	\$5.70 \$7.64	\$17.10 \$45.84	\$9.96 \$11.11	\$29.88 \$66.66
25	Linked (1)25"x14" & (2)25"x20"	12	\$10.47	\$125.64	\$11.84	\$142.08	\$8.58	\$102.96	\$18.00	\$216.00	\$11.46	\$137.52	\$16.65	\$199.80
26	Linked (1)25"x14" & (6)25"x20"	27	\$20.56	\$555.12	\$27.88	\$752.76	\$16.53	\$446.31	\$27.00	\$729.00	\$26.98	\$728.46		\$1,026.81
27 28	Linked (1)25"x15" & (2)25"x16" Linked (1)25"x15" & (5)25"x20"	6 9	\$9.64 \$17.88	\$57.84 \$160.92	\$9.29 \$23.23	\$55.74 \$209.07	\$7.93 \$14.42	\$47.58 \$129.78	\$15.00 \$35.00	\$90.00 \$315.00	\$9.00 \$22.48	\$54.00 \$202.32	\$12.68 \$33.31	\$76.08 \$299.79
28 29	Linked (1)25"x15" & (5)25"x20"	9	\$17.88	\$160.92	\$23.23	\$209.07	\$14.42	\$129.78	\$35.00	\$315.00	\$22.48	\$202.32	\$33.31	\$299.79
30	Linked (1)25"x16" & (2)25"x15"	6	\$9.64	\$57.84	\$9.29	\$55.74	\$7.93	\$47.58	\$11.00	\$66.00	\$9.00	\$54.00	\$12.68	\$76.08
31	Linked (1)25"x16" & (4)25"x20" Linked (2)16"x16" & (1)16"x10"	30 6	\$15.59 \$6.68	\$467.70 \$40.08	\$18.59 \$5.90	\$557.70 \$35.40		\$1,237.20 \$33.60	\$19.00	\$570.00 \$60.00	\$18.00 \$5.70	\$540.00 \$34.20	\$27.75 \$9.01	\$832.50 \$54.06
32 33	Linked (2)16"x16" & (1)16"x10" Linked (2)16"x16" & (1)16"x20"	12	\$6.68 \$7.55	\$40.08 \$90.60	\$5.90 \$6.88	\$35.40 \$82.56	\$5.60 \$6.29	\$33.60 \$75.48	\$10.00 \$11.00	\$60.00	\$5.70 \$6.66	\$34.20 \$79.92	\$9.01	\$54.06 \$118.44
34	Linked (2)16"x16" & (2)16"x20"	12	\$10.17	\$122.04	\$10.32	\$123.84	\$10.28	\$123.36	\$13.00	\$156.00	\$10.00	\$120.00	\$14.81	\$177.72
	Linked (2)16"x16" & (3)16"x20"	30 42	\$10.88	\$326.40	\$13.77	\$413.10	\$8.91	\$267.30	\$15.00 \$11.00	\$450.00 \$462.00	\$13.32	\$399.60	\$19.75	\$592.50 \$622.02
36 37	Linked (2)16"x25" & (1)16"x16" Linked (2)16"x25"	24	\$9.21 \$7.11	\$386.82 \$170.64	\$13.32 \$6.88	\$559.44 \$165.12	\$7.60 \$6.20	\$319.20 \$148.80	\$11.00 \$9.00	\$462.00	\$10.00 \$6.66	\$420.00 \$159.84	\$14.81 \$9.87	\$622.02
	Linked (2)20"x14" & (4)20"x20"	27	\$14.03	\$378.81	\$17.20	\$464.40	\$11.39	\$307.53	\$19.00	\$513.00	\$16.65	\$449.55	\$30.17	\$814.59
	Linked (2)20"x16" & (1)20"x20"	27	\$9.21	\$248.67	\$7.90	\$213.30	\$7.60	\$205.20	\$9.00	\$243.00	\$7.64	\$206.28	\$11.11	\$299.97
40 41	Linked (2)20"x16" Linked (2)25"x16"	3	\$5.72 \$6.65	\$17.16 \$19.95	\$5.90 \$6.88	\$17.70 \$20.64	\$5.79 \$6.48	\$17.37 \$19.44	\$8.00 \$10.00	\$24.00 \$30.00	\$5.70 \$6.66	\$17.10 \$19.98	\$9.96 \$12.78	\$29.88 \$38.34
42	Linked (2)20"x24" & (2)20"x15"	3	\$11.34	\$34.02	\$11.84	\$35.52	\$9.27	\$27.81	\$17.00	\$51.00	\$11.46	\$34.38	\$16.65	\$49.95
	Linked (2)20"x25"	9	\$10.49	\$94.41	\$7.90	\$71.10	\$8.36	\$75.24	\$9.00	\$81.00	\$7.64	\$68.76	\$11.11	\$99.99
	Linked (1)25"x16" & (2)25"x20" Linked (2)25"x15" & (1)25"x16" & (1)25"x20"	18	\$10.47 \$11.70	\$188.46 \$35.10	\$11.84 \$13.94	\$213.12 \$41.82	\$8.58 \$9.56	\$154.44 \$28.68	\$13.00 \$19.00	\$234.00 \$57.00	\$11.46 \$13.49	\$206.28 \$40.47	\$16.65 \$18.22	\$299.70 \$54.66
46	Linked (2)25"x20"	12	\$9.21	\$110.52	\$7.90	\$94.80	\$16.31	\$195.72	\$9.00	\$108.00	\$7.64	\$91.68	\$10.22	\$127.68
47	Linked (2)25"x25"	12	\$10.05	\$120.60	\$9.29	\$111.48	\$19.32	\$231.84	\$10.00	\$120.00	\$9.00	\$108.00	\$13.38	\$160.56
48	Linked (3)25"x20"	12 12	\$10.88 \$6.24	\$130.56	\$11.84 \$5.90	\$142.08 \$70.80	\$8.91 \$5.44	\$106.92 \$65.28	\$13.00	\$156.00 \$108.00	\$11.46 \$5.70	\$137.52	\$15.95 \$8.24	\$191.40
49 50	Linked (3)16"x12" Linked (3)16"x16" & (1)16"x20" & (1)16"x10"	15	\$10.05	\$74.88 \$150.75	\$10.32	\$154.80	\$8.25	\$123.75	\$9.00 \$15.00	\$225.00	\$10.00	\$68.40 \$150.00	\$14.19	\$98.88 \$212.85
	Linked (3)16"x20"	24	\$8.04	\$192.96	\$8.84	\$212.16	\$8.18	\$196.32	\$12.00	\$288.00	\$8.56	\$205.44	\$12.97	\$311.28
52	Linked (3)20"x20"	3	\$10.05	\$30.15	\$10.32	\$30.96	\$12.49	\$37.47	\$15.00	\$45.00	\$10.00	\$30.00	\$14.45	\$43.35
53 54	Linked (3)25"x14" Linked (3)25"x15" & (2)25"x20"	9 12	\$9.21 \$14.03	\$82.89 \$168.36	\$7.90 \$15.78	\$71.10 \$189.36	\$7.60 \$11.39	\$68.40 \$136.68	\$10.00 \$19.00	\$90.00 \$228.00	\$7.64 \$15.28	\$68.76 \$183.36	\$10.64 \$21.27	\$95.76 \$255.24
	Linked (4)16"x16"	3	\$9.21	\$27.63	\$8.84	\$26.52	\$9.78	\$29.34	\$14.00	\$42.00	\$8.56	\$25.68	\$12.97	\$38.91
	Linked (3)16"x20" & (1)16"x10"	12	\$9.64	\$115.68	\$10.32	\$123.84	\$7.93	\$95.16	\$14.00	\$168.00	\$10.00	\$120.00	\$14.19	\$170.28
57 58	Linked (4)16"x20" Linked (4)20"x20"	12	\$10.05 \$11.70	\$120.60 \$35.10	\$11.78 \$13.77	\$141.36 \$41.31	\$10.79 \$16.13	\$129.48 \$48.39	\$15.00 \$18.00	\$180.00 \$54.00	\$11.41 \$13.32	\$136.92 \$39.96	\$17.28 \$19.29	\$207.36 \$57.87
59	Linked (4)25"x16" & (2)25"x20"	9	\$16.38	\$147.42	\$18.58	\$167.22	\$13.24	\$119.16	\$20.00	\$180.00	\$18.00	\$162.00	\$28.38	\$255.42
60	Linked (4)25"x16" & (3)25"x20"	24	\$19.06	\$457.44	\$23.23	\$557.52	\$15.35	\$368.40	\$28.00	\$672.00	\$22.48	\$539.52	\$31.93	\$766.32
	Linked (4)25"x16" Linked (4)25"x16"	30	\$11.34 \$11.70	\$34.02 \$351.00	\$11.84 \$11.84	\$35.52 \$355.20	\$9.27 \$27.60	\$27.81 \$828.00	\$17.00 \$14.00	\$51.00 \$420.00	\$11.46 \$11.46	\$34.38 \$343.80	\$15.96 \$15.96	\$47.88 \$478.80
63	Linked (5)16"x20" & (1)16"x10" & (1)16"x24"	12	\$14.03	\$168.36	\$20.64	\$247.68	\$11.39	\$136.68	\$17.00	\$204.00	\$19.98	\$239.76	\$29.25	\$351.00
64	Linked (5)16"x20"	30	\$11.70	\$351.00	\$13.77	\$413.10	\$13.55	\$406.50	\$15.00	\$450.00	\$13.32	\$399.60	\$10.93	\$327.90
	Linked (5)20"x20" Linked (5)25"x20"	15 3	\$14.03 \$15.59	\$210.45 \$46.77	\$15.78 \$18.58	\$236.70 \$55.74	\$17.99 \$12.61	\$269.85 \$37.83	\$19.00 \$25.00	\$285.00 \$75.00	\$15.28 \$18.00	\$229.20 \$54.00	\$21.27 \$26.60	\$319.05 \$79.80
	Linked (4)25"x20" & (1)25"x12"	15	\$15.19	\$227.85	\$18.58	\$278.70	\$12.01	\$184.50	\$19.00	\$285.00	\$18.00	\$270.00	\$26.60	\$399.00
68	Linked (6)20"x14" & (1)20"x20"	6	\$14.03	\$84.18	\$15.78	\$94.68	\$11.39	\$68.34	\$19.00	\$114.00	\$15.28	\$91.68	\$21.27	\$127.62
	Linked (6)20"x14"	6	\$11.70 \$15.10	\$70.20 \$01.14	\$13.77	\$82.62	\$9.56	\$57.36 \$72.90	\$18.00	\$108.00	\$13.32	\$79.92	\$19.29	\$115.74
70 71	Linked (6)25"x16" Linked (4)25"x16" & (3)25"x20"	6 18	\$15.19 \$18.67	\$91.14 \$336.06	\$18.58 \$23.23	\$111.48 \$418.14	\$12.30 \$48.26	\$73.80 \$868.68	\$20.00 \$25.00	\$120.00 \$450.00	\$18.00 \$22.48	\$108.00 \$404.64	\$26.60 \$31.93	\$159.60 \$574.74
72	Linked (3)20"x14"	6	\$7.55	\$45.30	\$6.88	\$41.28	\$6.29	\$37.74	\$10.00	\$60.00	\$6.66	\$39.96	\$9.63	\$57.78
	Linked (1)25"x15" & (6)25"x20"	3	\$20.56	\$61.68	\$27.88	\$83.64	\$16.53	\$49.59	\$39.00	\$117.00	\$26.98	\$80.94	\$36.45	\$109.35
74 75	Linked (3)25"x15" & (1)25"x20" Linked (4)25"x20"	3 12	\$11.70 \$14.03	\$35.10 \$168.36	\$13.94 \$15.78	\$41.82 \$189.36	\$9.56 \$34.56	\$28.68 \$414.72	\$18.00 \$19.00	\$54.00 \$228.00	\$13.49 \$15.28	\$40.47 \$183.36	\$18.22 \$21.27	\$54.66 \$255.24
76	Linked (5)25"x20"	18	\$15.98	\$287.64	\$18.58	\$334.44	\$40.41	\$727.38	\$20.00	\$360.00	\$18.00	\$324.00	\$26.60	\$478.80
	Roll Anti-microbal Media - 10" Wide/Sleeve	1	\$61.94	\$61.94	\$67.84	\$67.84	\$51.37	\$51.37	\$25.00	\$25.00	\$68.84	\$68.84	\$60.98	\$60.98
	Roll Anti-microbal Media - 11" Wide/Sleeve Roll Anti-microbal Media - 11" Wide/Media	1	\$69.36 \$23.92	\$69.36 \$23.92	\$71.12 \$38.84	\$71.12 \$38.84	\$57.48 \$57.48	\$57.48 \$57.48	\$25.00 \$50.00	\$25.00 \$50.00	\$72.16 \$50.00	\$72.16 \$50.00	\$64.96 \$26.13	\$64.96 \$26.13
	Roll Anti-microbal Media - 12" Wide/Media	1	\$31.20	\$31.20	\$41.19	\$41.19		\$60.87	\$50.00	\$50.00	\$52.00	\$50.00	\$28.37	\$28.37
	Roll Anti-microbal Media - 12" Wide/Sleeve	1	\$73.48	\$73.48	\$74.39	\$74.39	\$60.87	\$60.87	\$100.00	\$100.00	\$75.48	\$75.48	\$68.97	\$68.97
	Roll Anti-microbal Media - 14" Wide/Media Roll Anti-microbal Media - 24" Wide/Sleeve	1	\$31.20 \$118.28	\$31.20 \$118.28	\$48.70 \$113.65	\$48.70 \$113.65	\$66.44 \$97.78	\$66.44 \$97.78	\$25.00 \$25.00	\$25.00 \$25.00	\$54.00 \$115.32	\$54.00 \$115.32	\$32.84 \$114.05	\$32.84 \$114.05
	Roll Anti-microbal Media - 8" Wide/Sleeve	1	\$59.23	\$59.23	\$61.29	\$61.29	\$49.13	\$49.13	\$25.00	\$25.00	\$62.19	\$62.19	\$47.60	\$47.60
	Roll Anti-microbal Media - 9" Wide/Media	1	\$19.50	\$19.50	\$38.84	\$38.84	\$51.91	\$51.91	\$25.00	\$25.00	\$48.00	\$48.00	\$21.65	\$21.65
	Roll Anti-microbal Media - 9" Wide/Sleeve	1	\$62.60	\$62.60	\$64.57	\$64.57	\$51.91	\$51.91	\$25.00	\$25.00	\$65.51	\$65.51	\$55.30	\$55.30
	Roll Anti-microbal Media - 15" Wide/Sleeve Auto Roll Filter Media	3	\$83.62	\$83.62 no bid	\$84.20 \$114.78	\$84.20 \$344.34	\$69.23	\$69.23 no bid	\$25.00 \$50.00	\$25.00 \$150.00	\$85.44 \$77.00	\$85.44 \$231.00	\$102.14 \$91.10	\$102.14 \$273.30
	Optional Bag Filters				***************************************	40.1101			70000	,	7	7201100	70	,
	Bag Filters 12"x24"x15"		\$18.17		\$11.29			no bid	\$14.40		\$11.18		\$9.58	
	Bag Filters 20"x20x"15" Bag Filters 20"x25"x15"		\$19.06 \$18.13		\$12.45 \$13.09			no bid no bid	\$15.50 \$18.80		\$15.29	no bid	\$10.60 \$11.24	
	Bag Filters 24"x24"x15"		\$20.63		\$13.88			no bid	\$19.90		\$17.06	.io biu	\$11.47	
	Pleated Filters													
	Pleated (1 inch)	12	\$2.74	\$32.88	\$3.27	\$39.24	\$2.72	\$32.64	\$3.00	\$36.00	\$2.31	\$27.72	\$2.71	\$32.52
	Pleated (2 inch) Pleated (2 inch)	18	\$2.95 \$3.23	\$53.10 \$12.92	\$3.09 \$3.38	\$55.62 \$13.52	\$2.54 \$3.16	\$45.72 \$12.64	\$3.50 \$3.75	\$63.00 \$15.00	\$2.67 \$2.86	\$48.06 \$11.44	\$2.73 \$3.41	\$49.14 \$13.64
	Pleated (2 inch)	20	\$3.82	\$76.40	\$3.76	\$75.20	\$3.33	\$66.60	\$4.25	\$85.00	\$3.57	\$71.44	\$3.99	\$79.80
	Pleated (2 inch)	32	\$4.03	\$128.96	\$4.17	\$133.44	\$3.57	\$114.24	\$4.50	\$144.00	\$3.68	\$117.76	\$4.35	\$139.20
	Pleated (4 inch)	4	\$6.94	\$27.76	\$6.27	\$25.08	\$6.26	\$25.04	\$5.75	\$23.00	\$4.78	\$19.12	\$3.41	\$13.64
	Pleated (4 inch)	6	\$5.87	\$35.22	\$5.70	\$34.20	\$5.07	\$30.42	\$5.50	\$33.00	\$3.79	\$22.74	\$4.60	\$27.60

			4- 10	A- 10	4- 4-	4- 44	40.40	40.40	40.00	40.00		4- 4-	40.10	40.10
96	Pleated (4 inch)	1	\$7.19		\$7.08	\$7.08	\$6.10	\$6.10	\$9.00	\$9.00	\$5.35		\$6.10	
97	Pleated (4 inch)	4	\$7.68	\$30.72	\$7.08	\$28.32	\$3.36	\$13.44	\$7.00	\$28.00	\$5.42	\$21.68	\$6.08	\$24.32
98	Pleated (4 inch)	6	\$8.33	\$49.98	\$7.48	\$44.88	\$6.86	\$41.16	\$8.00	\$48.00	\$5.68	\$34.08	\$6.92	\$41.52
99	Pleated (4 inch)	6	\$7.94	\$47.64	\$7.08	\$42.48	\$6.86	\$41.16	\$7.50	\$45.00	\$5.42	\$32.52	\$6.05	\$36.30
90	Pleated (2 inch) Merv 8	12	\$2.98	\$35.76	\$3.49	\$41.88	\$2.54	\$30.48	\$3.50	\$42.00	\$2.67	\$32.04	\$3.93	\$47.16
91	Pleated (2 inch) Merv 8	4	\$3.90	\$15.60	\$3.96	\$15.84	\$3.16	\$12.64	\$3.75	\$15.00	\$2.86	\$11.44	\$3.41	\$13.64
92	Pleated (2 inch) Merv 8	4	\$4.12	\$16.48	\$4.45	\$17.80	\$3.33	\$13.32	\$4.50	\$18.00	\$3.57	\$14.28	\$3.99	\$15.96
93	Pleated (2 inch) Merv 8	12	\$4.54	\$54.48	\$5.18	\$62.16	\$3.57	\$42.84	\$4.75	\$57.00	\$3.68	\$44.16	\$4.35	\$52.20
94	Pleated (4 inch) Merv 8	4	\$8.42	\$33.68	\$6.27	\$25.08	\$6.26	\$25.04	\$6.00	\$24.00	\$4.78	\$19.12	\$5.26	\$21.04
95	Pleated (4 inch) Merv 8	6	\$6.54	\$39.24	\$5.70	\$34.20	\$5.07	\$30.42	\$5.50	\$33.00	\$3.79	\$22.74	\$4.60	\$27.60
97	Pleated (4 inch) Merv 8	4	\$8.77	\$35.08	\$7.08	\$28.32	\$6.36	\$25.44	\$7.25	\$29.00	\$5.42	\$21.68	\$6.08	\$24.32
98	Pleated (4 inch) Merv 8	6	\$9.39	\$56.34	\$7.48	\$44.88	\$6.86	\$41.16	\$8.00	\$48.00	\$5.68	\$34.08	\$6.92	\$41.52
90	Pleated (2 inch) Merv 11	6	\$3.52	\$21.12	\$4.29	\$25.74	\$3.16	\$18.96	\$5.00	\$30.00	\$4.18	\$25.08	\$8.28	\$49.68
92	Pleated (2 inch) Merv 11	16	\$4.74	\$75.84	\$5.62	\$89.92	\$7.64	\$122.24	\$7.00	\$112.00	\$5.56	\$88.96	\$11.30	\$180.80
93	Pleated (2 inch) Merv 11	20	\$5.20	\$104.00	\$6.70	\$134.00	\$4.51	\$90.20	\$7.25	\$145.00	\$6.22	\$124.40	\$12.64	\$252.80
95	Pleated (4 inch) Merv 11 - Steel Frame	6	\$49.66	\$297.96	need n	nore info	\$44.65	\$267.90	\$39.00	\$234.00	\$34.06	\$204.36	\$53.80	\$322.80
97	Pleated (4 inch) Merv 11 - Steel Frame	16	\$57.60	\$921.60	need n	need more info		no bid		\$768.00	\$45.12	\$721.92	\$74.50	\$1,192.00
98	Pleated (4 inch) Merv 11 - Steel Frame	20	\$59.00	\$1,180.00	need more info		\$53	\$1,060	\$49.00	\$980.00	\$50.81	\$1,016.20	\$60.67	\$1,213.40
	Estimated Total Amount of	Bid	\$2	22,568.24	\$21,096.23		\$22,763.65		\$23,939.00		\$22,159.93		\$30,468.93	
	Spreadsheet Calcula	ation	\$22	2,343.78	\$21,171.16		\$23	,021.65	\$23,939.00		\$22,137.40		\$30,380.24	

UNIT COST BREACK DOWN - DISPOSABLE AIR FILTERS

UNIT COST BREACK DOWN - DISPOSABLE AIR FILTERS BID #1115												
	Error on Unit Cost Break Down (corrected)			a Supply	_	Filters	Johnsto	ne Supply	Tridim Filter			
	,	count	price	total	price	total	price	total	price	total		
	Single Panel (10-1/4"x22"x1/2")	33 12	\$3.48 \$2.28		\$3.00 \$3.00		\$4.98 \$7.08		\$5.39 \$4.71	\$177.87 \$56.52		
	Filter Panels 3 Ply (12" x 20") Filter Panels 3 Ply (16" x 20")	243	\$2.20		\$3.00	\$729.00	\$3.83		\$3.18			
	Filter Panels 3 Ply (16" x 25")	123	\$3.13		\$3.25		\$4.56		\$2.93			
	Filter Panels 3 Ply (20" x 20")	768	\$3.13	\$2,403.84	\$3.25	\$2,496.00	\$4.51	\$3,463.68	-	\$2,588.16		
	Filter Panels 3 Ply (20" x 25")	90	\$3.59	-	\$3.95		\$5.16		\$4.28			
	Filter Panels 3 Ply (24" x 24")	747		\$2,793.78		\$2,950.65		\$4,168.26		\$3,346.56		
8 9	Linked (3)25"x16" Linked (1)20"x16" & (2)20"x15"	3 6	\$8.45 \$7.19		\$10.00 \$9.00		\$13.76 \$10.30		\$11.02 \$8.32	\$33.06 \$49.92		
	Linked (4)16"x16" & (1)16"x20"	12	\$10.72		\$14.00	\$168.00	\$17.68		\$15.58			
11	Linked (4)20"x20"	3	\$12.52	\$37.56	\$15.50	\$46.50	\$18.05	\$54.15	\$14.70	\$44.10		
	Linked (1)15"x20" & (1)15"x12"	3	\$6.96		\$10.00		\$8.45		\$11.06	\$33.18		
	Linked (1)16"x10" & (1)16"x16" & (3)16"x20"	9	\$10.72 \$5.36		\$19.00	\$171.00 \$63.00	\$10.11		\$15.15 \$6.23			
	Linked (1)16"x10" & (1)16"x20" Linked (1)16"x12" & (1)16"x10" & (4)16"x20"	24	\$12.52		\$7.00 \$19.00	\$456.00	\$8.45 \$20.17		\$14.70	\$352.80		
	Linked (1)16"x24" & (4)16"x20"	15	\$12.52		\$19.00	\$285.00	\$20.17		\$14.70			
17	Linked (1)20"x14" & (2)20"x25"	3	\$9.39	\$28.17	\$12.00	\$36.00	\$16.35	\$49.05	\$13.08			
	Linked (1)20"x14" & (5)20"x20"	9	\$17.96		\$22.50	\$202.50	\$26.08		\$22.12	\$199.08		
	Linked (1)20"x14" & (6)20"x20"	24 6	\$21.54 \$12.52		\$27.00 \$18.00	\$648.00 \$108.00	\$31.01 \$20.66		\$27.76 \$15.12	\$666.24 \$90.72		
	Linked (1)20"x25" & (3)20"x20" Linked (1)20"x16" & (2)20"x15"	6	\$7.19		\$13.50		\$10.28		\$8.32	\$49.92		
	Linked (1)20"x16" & (2)20"x25"	18	\$10.77	\$193.86	\$17.00	\$306.00	\$15.48		\$13.08	\$235.44		
	Linked (1)20"x20" & (1)20"x14"	3	\$5.36	_	\$9.00	\$27.00	\$8.15		\$6.54	\$19.62		
	Linked (1)20"x24" & (1)20"x20"	6	\$7.19		\$9.00	\$54.00	\$10.28		\$9.56			
	Linked (1)25"x14" & (2)25"x20" Linked (1)25"x14" & (6)25"x20"	12 27	\$10.77 \$25.36	\$129.24 \$684.72	\$13.50 \$31.00	\$162.00 \$837.00	\$15.76 \$35.40		\$18.82 \$28.48	\$225.84 \$768.96		
	Linked (1)25"x15" & (2)25"x16"	6	\$8.45		\$10.00		\$11.78		\$9.96			
	Linked (1)25"x15" & (5)25"x20"	9	\$21.13		\$25.75		\$29.75		\$24.92	\$224.28		
	Linked (1)25"x15" & (5)25"x20"	9	\$21.13		\$25.75		\$29.75		\$24.92	\$224.28		
	Linked (1)25"x16" & (2)25"x15"	6	\$8.45		\$10.00	\$60.00	\$11.78		\$11.02	\$66.12		
	Linked (1)25"x16" & (4)25"x20" Linked (2)16"x16" & (1)16"x10"	30 6	\$16.90 \$5.36		\$17.50 \$7.50	\$525.00 \$45.00	\$27.55 \$8.82		\$22.05 \$6.54	\$661.50 \$39.24		
	Linked (2)16"x16" & (1)16"x20"	12	\$6.26		\$8.00	\$96.00	\$10.06		\$7.35			
	Linked (2)16"x16" & (2)16"x20"	12	\$9.39		\$15.00	\$180.00	\$14.98	_	\$10.83			
	Linked (2)16"x16" & (3)16"x20"	30	\$12.52	\$375.60	\$19.00	\$570.00	\$20.71		\$15.58	\$467.40		
	Linked (2)16"x25" & (1)16"x16"	42	\$9.39		\$14.00	\$588.00	\$15.21		\$11.42	\$479.64		
	Linked (2)16"x25" Linked (2)20"x14" & (4)20"x20"	24 27	\$6.26 \$15.65		\$8.00 \$19.50	\$192.00 \$526.50	\$10.06 \$28.03		\$7.12 \$20.30	<i>\$170.88</i> \$548.10		
	Linked (2)20"x16" & (1)20"x20"	27	\$7.19		\$9.00	\$243.00	\$10.29		\$8.56	\$231.12		
	Linked (2)20"x16"	3	\$5.36		\$8.75	\$26.25	\$8.15		\$6.54	\$19.62		
	Linked (2)25"x16"	3	\$6.26		\$9.75	\$29.25	\$9.16		\$7.12	\$21.36		
	Linked (2)20"x24" & (2)20"x15"	9	\$10.77 \$7.19	-	\$13.75 \$9.00	\$41.25 \$81.00	\$19.36 \$12.90		\$15.93 \$8.56	\$47.79 \$77.04		
	Linked (2)20"x25" Linked (1)25"x16" & (2)25"x20"	18	\$10.77		\$15.00	\$270.00	\$15.76		\$18.82	\$338.76		
	Linked (2)25"x15" & (1)25"x16" & (1)25"x20"	3	\$12.68		\$18.00	\$54.00	\$17.68		\$14.61	\$43.83		
46	Linked (2)25"x20"	12	\$7.19		\$9.00	\$108.00	\$10.38		\$8.56	\$102.72		
	Linked (2)25"x25"	12	\$8.45		\$10.00	\$120.00	\$12.89		\$10.54	\$126.48		
	Linked (3)25"x20" Linked (3)16"x12"	12 12	\$10.77 \$5.36	\$129.24 \$64.32	\$13.00 \$7.70	\$156.00 \$92.40	\$30.25 \$9.11		\$12.83 \$6.23	\$153.96 \$74.76		
	Linked (3)16"x16" & (1)16"x20" & (1)16"x10"	15	\$9.39	\$140.85	\$12.00	\$180.00	\$15.11		\$10.68	\$160.20		
	Linked (3)16"x20"	24	\$8.04		\$10.00	\$240.00	\$13.25		\$9.81	\$235.44		
	Linked (3)20"x20"	3	\$9.39		\$12.00	\$36.00	\$13.53		\$11.02	\$33.06		
	Linked (3)25"x14"	9	\$7.19	_	\$9.00	\$81.00 \$228.00	\$10.38 \$23.11		\$7.35			
	Linked (3)25"x15" & (2)25"x20" Linked (4)16"x16"	3	\$14.36 \$8.04		\$19.00 \$13.00	\$228.00	\$25.48		\$17.80 \$12.46	\$213.60 \$37.38		
	Linked (3)16"x20" & (1)16"x10"	12	\$9.39	_	\$11.00	\$132.00	\$25.48		\$10.83	\$129.96		
57	Linked (4)16"x20"	12	\$10.72	\$128.64	\$14.40	\$172.80	\$17.69	\$212.28	\$12.64	\$151.68		
	Linked (4)20"x20"	3	\$12.52		\$15.50	\$46.50	\$18.05		\$14.70			
	Linked (4)25"x16" & (2)25"x20" Linked (4)25"x16" & (3)25"x20"	9 24	\$16.90 \$21.13		\$25.00		\$25.83 \$31.21		\$21.09 \$26.36			
	Linked (4)25"x16" & (3)25 x20	3	\$10.77	\$307.12	\$25.75 \$13.40		\$15.57		\$14.70			
	Linked (4)25"x16"	30	\$10.77	\$323.10	\$13.40		\$18.36		\$14.24			
	Linked (5)16"x20" & (1)16"x10" & (1)16"x24"	12	\$18.77	\$225.24	\$29.00	\$348.00	\$30.43		\$23.52	\$282.24		
	Linked (5)16"x20"	30	\$12.52		\$15.50		\$30.43		\$13.05			
	Linked (5)20"x20" Linked (5)25"x20"	15 3	\$14.36 \$16.90		\$19.00 \$21.00	\$285.00 \$63.00	\$20.65 \$27.55		\$14.70 \$21.09	\$220.50 \$63.27		
	Linked (4)25"x20" & (1)25"x12"	15	\$16.90		\$20.50		\$27.55		\$21.09	\$320.40		
	Linked (6)20"x14" & (1)20"x20"	6	\$14.36		\$17.50	\$105.00	\$20.65		\$17.11	\$102.66		
	Linked (6)20"x14"	6	\$12.52		\$15.50		\$18.05		\$14.70			
	Linked (6)25"x16" Linked (4)25"x16" 8 (3)25"x20"	6 10	\$16.90		\$20.50	\$123.00 \$463.50	\$26.55		\$21.36			
	Linked (4)25"x16" & (3)25"x20" Linked (3)20"x14"	18 6	\$21.13 \$6.26	-	\$25.75 \$10.00	\$463.50 \$60.00	\$31.20 \$9.00		\$25.67 \$7.33	\$462.06 \$43.98		
	Linked (1)25"x15" & (6)25"x20"	3	\$25.36		\$30.90		\$35.39		\$28.48			
74	Linked (3)25"x15" & (1)25"x20"	3	\$12.68	\$38.04	\$15.50	\$46.50	\$18.36	\$55.08	\$14.70	\$44.10		
75	Linked (4)25"x20"	12	\$14.36	\$172.32	\$17.95	\$215.40	\$20.80	\$249.60	\$17.11	\$205.32		

76 Linked (5)25"x20"	18	\$16.90	\$304.20	\$18.85	\$339.30	\$25.82	\$464.76	\$21.09	\$379.62
77 Roll Anti-microbal Media - 10" Wide/Sleeve	1	\$61.68	\$61.68	\$75.00	\$75.00	\$115.98	\$115.98	\$64.55	\$64.55
78 Roll Anti-microbal Media - 11" Wide/Sleeve	1	\$64.65	\$64.65	\$79.00	\$79.00	\$115.98	\$115.98	\$70.33	\$70.33
79 Roll Anti-microbal Media - 11" Wide/Media	1	\$38.55	\$38.55	\$55.00	\$55.00	\$55.40	\$55.40	\$55.30	\$55.30
80 Roll Anti-microbal Media - 12" Wide/Media	1	\$41.17	\$41.17	\$59.00	\$59.00	\$55.80	\$55.80	\$55.30	\$55.30
81 Roll Anti-microbal Media - 12" Wide/Sleeve	1	\$67.62	\$67.62	\$79.00	\$79.00	\$142.96	\$142.96	\$70.33	\$70.33
82 Roll Anti-microbal Media - 14" Wide/Media	1	\$46.43	\$46.43	\$74.00	\$74.00	\$63.25	\$63.25	\$55.30	\$55.30
83 Roll Anti-microbal Media - 24" Wide/Sleeve	1	\$103.32	\$103.32	\$100.00	\$100.00	\$241.49	\$241.49	\$109.21	\$109.21
84 Roll Anti-microbal Media - 8" Wide/Sleeve	1	\$55.72	\$55.72	\$75.00	\$75.00	\$115.98	\$115.98	\$59.06	\$59.06
85 Roll Anti-microbal Media - 9" Wide/Media	1	\$33.29	\$33.29	\$50.00	\$50.00	\$38.43	\$38.43	\$55.30	\$55.30
86 Roll Anti-microbal Media - 9" Wide/Sleeve	1	\$58.70	\$58.70	\$75.00	\$75.00	\$115.98	\$115.98	\$64.53	\$64.53
87 Roll Anti-microbal Media - 15" Wide/Sleeve	1	\$76.55	\$76.55	\$85.00	\$85.00	\$142.96	\$142.96	\$82.53	\$82.53
88 Auto Roll Filter Media	3	\$103.93	\$311.79	\$65.00	\$195.00	\$100.29	\$300.87	\$142.30	\$426.90
Estimated Total Amount o	\$18,238.18		\$21,806.45		\$28,211.89		\$21,901.01		
Optional Bag Filters									-
89 Bag Filters 12"x24"x15"	\$10.28		\$15.50		no bid		\$15.20		
90 Bag Filters 20"x20x"15"	\$11.32		\$16.95		no bid		\$16.25		
91 Bag Filters 20"x25"x15"	\$11.90		\$19.95		no bid		\$17.23		
92 Bag Filters 24"x24"x15"		\$12.64		\$20.95		no bid		\$18.24	